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Const int x=7; x+=9;
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inti; i=1000*1000*1000;
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double x,y,z;
x= (1000/3.0);
y=x-333.0;
z=3*y-1.0;
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int x=0;
int main()
{
int x=5;
int y=5;
x+=4;
{
int y=0;
x+=3;
y+=6;
}

cout <<x<<y;
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int main()
{
int s=27;
switch (s%10)
{
case 10:
case 9: cout<<"NI";
case 8: cout<<"El";
case 7: cout<<"SE";
case 6: cout<<"SS";
case 5:
case 4:
case 3:
case 2: cout<<"TW";
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if (a==1)
if (b==1) c++;
else c--;

p=(x>y ? 4:5);
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if (x=0) cout << x <<"=0"; .Y if (x<y<z) cout <<x << "<" <<y << "<" <<z;
if x<y min=x .f k= (x<y ?-1:(x==y ?0:1)); .Y
else min=y;
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int main()
{
for (int m=95, n=11; m%n>2 ; m-=3, n++)
cout << m%n;

}
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int main()
{
int N=5;
bool done=false;
for (inti=0; i<N && !done ; i++)
if (i+2 > N) done=true;
else cout<< i+2<<" ";
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int m=2, k=10;

unsigned seed= time (NULL);

srand (seed);

int r=k-m+1;

for (int i=0; i<10; i++)

{
int a= rand()/100%r +m;
cout<<a<<"";
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bool i=false;
do {
i=true;
} while (!i);
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void func (float &x, float y)

{
float temp=x;
X=Y;
y=temp;
}
int main()
{
float a=5, b=7;
func (a,b);
Cout << lla=ll << a <<Il , b=ll <<b;
}
a=7,b=5 .Y a=7,b=7 .\
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Sl plas 3 aol p azed =g, —IF
void f(int x, const int & y)

{
X+=y;
y+=10;
}
int main()
{
int a=22, b=33;
f(a,b);
Cout << Ila=ll << a<< Ilb=ll << b;
}
Sges aplgs jolo Uas aaliy - ¥ a=55 b=43 .\
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int main()

{
enum t {a,b,c,d};
float high [d+1]={1,2};
inti;
for (i=a; i<d; i++)
cout <<i<<"="<<high[i]<<",";
cout << i << "=" << high [i];
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const int k=88;
const int * pc=&k;
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int main()

{
char ch, pre="\0';
while ( cin.get(ch))

{
if (pore==""]| pre =="\n’)
cout.put (char (toupper(ch));
else cout.put(ch);
pre=ch;
}
}
ABc ABc BBB .¥ ABc Abc BBB .Y abcabc bbb .¥ Abc Abc Bbb .\
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char s1[]="ABCDEF";
char s2[]="XYZ";

strncpy (s1, s2, 2);
cout << "s1=" << s1 <<" ,s2=" << 52;

s1=XYABCDEF, s2=XYZ .Y s1=XYCDEF, s2=XYZ .\
s1=ABCDEF, s2=XYABCDEF .¥ s1=ABCDEF, s2=XYZAB .Y

" }!VW ————————— @] JpW{] £99 Jluowd YoYe[Ve)eYAY




wwbi, 0 2 Ly alsadiil s :m‘}\‘kwfg.

S S
gl 0 g U1 e &1 S 32 51 ) She &y Shrig igal e IS

SV s Jlgw (5w For M Foz it (4893) 03T o) DPpid Y2 (o 1 Y gw SIS

A iy (650w 40l oY 5 gunols” Jguol 3 39 () g

ke ( (Sisniz) )l 581 o yim 35 guolS cwiigeor( (Sididiz) GleMbl (6 ygld (cwiiteor (51381 o 35) 5 gupols’ koo t w38 W/ (s &l
pokec— MOIFA Sledbl (g 55Ld omokitene — INBFA sdksicn (1581 Cions) 57 gupolS  suwiidpon( sibiiskics) 5 gapelS’
VON14 5 gusolS polelnd )15 g cludly s — 1NBIFY 5 guupols

b cawl ﬁlﬁrl s ) g M b o Hladio ¢y ) doli o axkad 4o —Y.
class R

{
public:
R(): n(0), m(1) {}
R(int a): n(a), m(1){}
R(int a, int b): n(a), m(b) {}
private:
int n,m;

b

int main()

{
Rr1(5);
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class A

{
public:
A(int a): n(a){};
void print ()
{

cout << "A";

}
private:
int n;

int main()

{
const A al(5);

al.print();
}
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class X
{
public:
int data;
X(): data(0);
b

int main()

{
X * p= new X;
(*p).data=10;
cout << p->data;

return 0;
}
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int main ()
{
char szKey[] = "apple";
char szlnput[80];
do
{

gets (szlnput);
} while (strcmp (szKey,szInput) != 0);
}
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int i=5, j=20;
int x=i<< 5| j>>3;
inty=i>>2 & j<<2;
cout <<"x="<<x <<",y="<<y;
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static char c[]="ABCD";
for (int a=0; c[a]!="\0'; a++)
if (a%2==0) cout << c[a] << c[a];
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